
EduSahara™	Worksheet

Name	:	Chapter	Based	Worksheet
Chapter	:	Whole	Numbers
Grade	:	SSC	Grade	VI
License	:	Non	Commercial	Use

1. What	is	the	preceeding	number	of	108?
(i) 104 (ii) 106 (iii) 110 (iv) 107 (v) 108

2. The	value	of	0	✕	43	✕	21	✕	41	is
(i) (-3) (ii) 0 (iii) (-1) (iv) 3 (v) 1

3. What	is	the	succeeding	number	of	4,418,101?
(i) 4,418,103 (ii) 4,418,104 (iii) 4,418,101 (iv) 4,418,102 (v) 4,418,099

4. Which	of	the	following	are	true?

a) 16÷(3÷2)=(16÷3)÷2
b) 6−(16−3)=(6−16)−3
c) 2+(6+16)=(2+6)+16
d) 3✕(2✕6)=(3✕2)✕6

(i) {a,c} (ii) {b,d} (iii) {c,d} (iv) {a,d,c} (v) {a,b,c}

5. What	is	the	succeeding	number	of	308?
(i) 310 (ii) 312 (iii) 306 (iv) 308 (v) 309

6. Find	the	difference	between	the	values	of	numbers	at	point	A	and	B

(i) (-3) (ii) 0 (iii) 2 (iv) (-2) (v) (-1)

7. What	is	the	preceeding	number	of	4,426,036?
(i) 4,426,035 (ii) 4,426,034 (iii) 4,426,037 (iv) 4,426,033 (v) 4,426,036

8. Find	the	equation	representing	the	following	number	line	diagram

(i) 9 6 15+ = (ii) 11 6 5− = (iii) 10 8 18+ = (iv) 8 6 14+ = (v) 9 9 0− =

9. The	value	of	20	✕	5	is
(i) 101 (ii) 103 (iii) 99 (iv) 97 (v) 100



10. The	value	of	20	+	5	is
(i) 23 (ii) 24 (iii) 25 (iv) 28 (v) 26

11. What	is	the	preceeding	number	of	390?
(i) 388 (ii) 391 (iii) 386 (iv) 390 (v) 389

12. The	value	of	0	+	9	+	12	+	38	is
(i) 61 (ii) 59 (iii) 57 (iv) 60 (v) 58

13. What	is	the	succeeding	number	of	20,62,706?
(i) 20,62,707 (ii) 20,62,710 (iii) 20,62,706 (iv) 20,62,705 (v) 20,62,708

14. The	value	of	0	✕	41	is
(i) 2 (ii) 0 (iii) 1 (iv) (-3) (v) (-1)

15. Find	the	difference	of	the	two	numbers	at	the	points	labelled	with	letters	B	and	C

(i) (-5) (ii) (-4) (iii) (-7) (iv) (-2) (v) (-3)

16. The	value	of	14	+	11	+	11	is
(i) 37 (ii) 35 (iii) 39 (iv) 36 (v) 34

17. The	value	of	1	+	17	is
(i) 19 (ii) 17 (iii) 18 (iv) 15 (v) 21

18. The	value	of	0	+	10	is
(i) 8 (ii) 11 (iii) 9 (iv) 10 (v) 12

19. The	value	of	8	✕	6	✕	17	is
(i) 816 (ii) 819 (iii) 817 (iv) 815 (v) 814

20. Which	of	the	following	are	true?

a) 18✕(10−19)=(18✕10)−(18✕19)
b) 10−(19✕16)=(10−19)✕(10−16)
c) 19÷(16+18)=(19÷16)+(19÷18)
d) 16✕(18+10)=(16✕18)+(16✕10)

(i) {b,a} (ii) {b,c,a} (iii) {a,d} (iv) {b,d,a} (v) {c,d}

21. What	is	the	succeeding	number	of	240?
(i) 244 (ii) 240 (iii) 238 (iv) 242 (v) 241



22. Which	of	the	following	are	true?

a) whole	numbers	are	closed	under	multiplication
b) whole	numbers	are	closed	under	addition
c) whole	numbers	are	closed	under	division
d) whole	numbers	are	closed	under	subtraction

(i) {d,b} (ii) {a,b} (iii) {c,a} (iv) {c,d,a} (v) {c,b,a}

23. What	is	the	succeeding	number	of	1260943?
(i) 1260943 (ii) 1260946 (iii) 1260944 (iv) 1260945 (v) 1260941

24. Find	the	number	at	the	point	labelled	with	letter	N

(i) 2 (ii) 5 (iii) 4 (iv) 7 (v) 3

25. Which	of	the	following	are	true?

a) 4−17=17−4
b) 17÷2=2÷17
c) 10+4=4+10
d) 2✕10=10✕2

(i) {c,d} (ii) {b,d} (iii) {a,d,c} (iv) {a,b,c} (v) {a,c}
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